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ORDERING OF SENTENCES

. . : . ; ] nd the si
Directions: In this section each item consists of six sentences of a passage. The f;lrst ab he'z swcbth Sentenceg
are given in the beginning as S1 and S6. The middle four sentences iit each have teen Jumbled yp angd
labelled as P, Q, R and S. You are required to find the proper sequence of the four sen ences.and mark yoy,

response accordingly on the Answer Sheet.

1. S1: Hunger and malnutrition are outcomes of food insecurity or the inability to access adequate
food and nutrition. ’ ‘
S6: It is most likely that India is going to miss the Millennium‘Development Gogl in this regarq.

p-U

. In 2001-03, every fifth Indian was found to be undernourished.

Q : The rate of decline in the proportion of the undernourish.ed through the 1990s was much
slower in comparison to the decline in poverty headcount ratio.

R : Hunger-related poverty remains one of the major deprivations in India.

S : In fact, the 'proportion of undernourished people. remained stagnant at 21% in the second half
of 1990s, and the number actually increased. '

The correct sequence should be :

(a) RPQS
(b) RQPS
(© SRPQ
(d QPRS

2. S1: The Indian Meteorological Department (IMD) was established in 1975.

S6 : These predicti(?ns have an effect on the Indian economy that belies any belief that the economy
of our country is not solely dependent on agriculture and the rains that feed it.

P : The Meteorological Department .is perha

; 4 ps also burd i ' itical form of .
soothsaying i.e., forecasting the monsoon, Sas with thefmost. ggtica

- Q : The Crop Yield Formation Unit of the de

2 artm : isti dels using
correlation and regression techniques, P ent has ‘developed statistical mode

R : The IMD issued the first operational lon
rainfall in India in 1986.

S : It is the nat
meteorology.

8 range forecast of seasonal south-west monsoon

ural meteorological service and the principa] agency in all matters related to

\

The correct sequence should be :

(a) RSPQ
(h) SRQP
(¢) SQRP
(d) PQRS
GHSA-U-ENG | (2-8)
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S6 :

Let us posit two questions : one, what ails our parliamentary system ?

Given the current political scenario, it appears that India has yet to develop a strong
parliamentary culture.

t To search for an answer, we begin with Rudolfs observation that the parliamentary life has _

deteriorated in India.

Q. : Two, how democratic is our democracy ?

: For a system to survive, grow and prosper, it needs to be supported by a democratic political

culture

t There is an orgamc connectivity between a parhamentary system and parliamentary

democracy.

The correct sequence should be :

(a)
(b)
(c)
(d)

S6 :

R :
S :

QRPS
SPRQ
PQRS

QPRS

People of every country think very highly of themselves and consider their country the best or

"the greatest.

Wei should 'acéept whatever good we may find in other countries.

: And d1scard What is bad.

. No country can be absolutely good just as no man can be thoroughly good.

One must cultivate the ability to dlscern the good from the bad..

We have to keep what is good.

The correct sequence should be :

(a) QPRS
(b) SPQR
(c) QRSP |
d PQRS - |
GHSA-U-ENG S »(3fB) o |
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SYNONYMS

pirections : Each item in this section consists of a sentence with an underlined word followed by four

words/group of words. Select the option that is nearest in meaning to the underlined word and mark
vour response on the Answer Sheet accordingly.

11. Please use conversational language. 16. His gibbous looks make him different from
(@ formal others. ‘ :
(b) complex (a)  hunched
(¢) dialogical (b) smart
(d)  informal : (¢) charming

(d) disabled

12. My neighbour is malicious.

17. She tormented me with her detached
(a) generous e
behaviour.

(b) affectionate
(a) threatened

(c) spiteful

: (b) ignored
(d) magnanimous o cajoli

13. [ was awe-inspired by his designation. . (d) distressed

a9~ position | 1s. Her peerless manners were noticed.
b) looks » (G lovable |

(¢) social status ) _ (b) rpwdy

(d) personality (¢) irrelevant

(d) unequalled

14. Words of endearment always touch me.
19. He studied mensuration carefully.

_(ay” measurement

(a) praise

(b) fondness

(b)  questions

(c) conviction :
, : , (¢) conclusions

(d) wisdom 5 © (d) lessons
15. We should follow patience and forbearance. 20. They smothered the fire in the building.

(a) constraint ; \.Ga‘)’ lighted

(b) encouragement , ' (b) surrounded

ey restraint - (¢) doused

(d) support (d) saw A\

7-B

GHSA-U-ENG ( )
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ni,.ppfinns ;

PREPOSITIONS AND DETERMINERS

following sentences in this section has a blank space with four options. Select

Each of the

whichever preposition or determiner you consider the most appropriate for the blank space and indicate

you

31. __ dint of perseverance
and hard work.
()" 1In
(b) of
() by
(d) with
32. his ill health, he retired from
his business.
(a) With regard to
(b) Due
(c) As
(d) Owing to
33. These are the good rules to live
(a) with
(b) by
() off
Ud)” in
34. People who are averse hard
work do not succeed in life.
(a) to
(b) with
() of
(d) regarding
35. A woman who always connives
her children to hide their faults, is their worst
enemy. ;
(a) ~ with
® by
() at
‘(dy for
GHSA-U-ENG o

» response on the Answer Sheet accordingly.

He succeeded

i

36.

37.

38.

39.

40.

We travelled
(a) at

(b) with
(¢) inside

J,df)‘in

Mr. Barthwal’s car.

train.

achieve with diligence and skill.

It is natural for everyone to aspire

his Wife’s debts.

Suresh came home
(a) on
(b) . with
Lo by
(d) off
Few things are impossible
(a) for
by to
(c)- .in
(@ onto
distinction.
(@ with
(b) about
(c) into
(d for
He is liable
(a) for
b to
(e)  with
(d at
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COMPREHENSION

, will find some ;
Directions : In this section you have two short passages. After eac/i papsade, you e e Hems

; j > requir
based on the passage. First, read a passage and answer the items based on it. You are required to select

) l 5
your answers based on the contents of the passage and opinion of the author only

Passage - 1

All such as

organisms plants, animals,
microorganisms and human beings as well as the
physical surroundings interact with each other and
maintain a balance in nature. All the interacting
organisms in an area together with the non-living
constituents of the environment form an ecosystem.
Thus, an ecosystem consists of biotic éomponents

comprising living organisms and abiotic components

comprising physical factors like temperature,

rain__f_a}l}z‘_wixﬁ,__sg_i_lﬂ and minerals.

For example, if you visit a garden you will
find different plants, such as grasses, trees;
flower-bearing plants like rose, jasmine, sunflower;
and animals like frogs, insects and birds. All these
living organisms interact with each other and their
growth, reprodﬁction and other activities are

affected by the abiotic components of the ecosystem.

So a garden is an ecosystem. Other types of

ecosystems are forests, ponds and lakes. These are
natural ecosystems while gardens and crop-fields

are human-made ecosystems.

41. The general tone of the passage is
(a) ecritical. |
(b)  satirical,
(¢) analytical,

(&)~ informational,

GHSA-U-ENG

(10-B)

42. Which of the following is a non-living

constituent of the environment ?

(@)~ Wind
(b) Bacteria
(¢) Grasses
(d) Frog
43. Abigtic_do,mpgnents of the ecosystem refer to
(a) living organisms.
(b)  non-living organisms.
(¢)  natural surroundings.
)~ physical factors.
44. Which of the following is not a natural
ecosystem ?
\,(a')’f Crop-field
(b)  Forest
(¢) Pond
(d) Lake
45. The word ‘constituent’ in the passage implies
(a)  constellation.
(b)  consternation.
NI" o component,
(d)  constriction.

|
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Passage - I

As we discussed food and sang every song
we could remember and talked incessantly, we
were slowly moving deeper into the Atlantic, and
we got the feeling, really, that we belonged
there, and that the ships that passed on the

actually living on the ocean. We discovered that

the birds all seemed to league up at night-time,
resting on the water by the hundredsT‘When we
came poking along, we seemed so much a part of
the sea that the birds wouldn’t move until we
were about five yards away. Then they’d flutter
off, leaving feathers floating in the water, and

settle again a few yards away.

The dolphins and porpoises would come
up at sunset and move in among us and the
birds. They’d come up very lazily under the
birds, which would go up on thei; heels and
flap their wings a bit, and then settle right
down again. Two whales joined us one
evening and played ring-around-rosie so close
to us that Chay could have reached out an

oar and tapped one.

We had calculated that we had just

enough rations to make England, but the

easterly winds caused an agonizing

reappraisal. It would have been an

interesting experience, running right down

GHSA-U-ENG

like that, but we felt we must not risk other
people’s lives by making them search for us.
We decided to accept rations from the next

ship that stopped. Was it a mature decision ?

This was also the time when the strain
of the voyage really began to tell on us. I
wrow_l_()g: ‘T have known fear many
times in my life, and indeed I have often
striven to develop a situation that provided
fear in both boxing and parachuting. I have
never known anything like this — cannot be
over tomorrow, or for many tomorrows.
Somehow it is like being rubbed down with
sandpaper. I honestly do not know how many
storms there have been now, and each leaves

us progressively weaker.

‘Tonight we lie and wait. Nothing could
save us if we get into difficulties. No ship
could get us off these seas even if it arrived in
time. We are completely in God’s hands, at
the mercy of the weatherb.A All night the wind
screams louder and louder, and the sound of

the sea grows. We talk of many things — the

‘night train to Scotland, the many things

we've done, and slowly we are overtaken by

an enormous feeling of humility and a desire

to return to try and live a better life. The
weather reached a climax at 0300 and then
declined rapidly. Thank goodness we could

not see the sea.’

(11-B)
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’.ﬂ,r{ions : Each of the follow
'M. find which part of
2 /

PARTS OF SPEECH

¥ ,‘»m'(fl ’7:‘:/."'
o

51

The conclusions that they came to are highl
i 1ghly

quostionable.
| Db~
(a) Noun

(b) Adjective

(¢) Adverb
(d) Gerund
59. This year marks the qw of
Columbus’s voyage to America.
(a) Noun
(b) Adjective
(¢c) Adverb
(d) Article
53. 1 still cherish the memories of those far-off
days. ' TS
_(ay~ Preposition
(b) Conjunction
(c) Adjective
(d) Adverb
5. I don’t think Ill come on Saturday. I have a
lot of work to do. Besides, I don’t really like
parties.
(a) Adjective
(b) Adverb 2
(¢) Preposition
(dy~ Conjunction
5. The bottomline is that we have to make ?
re————— g
decision today-
ey~ Noun
(b) Pronoun
(c) - Adverb
(d) Adjective
GHSA-U-ENG

56.

57.

58.

59.

60.

(13-B)

ing sentences } .
speech the underlir dms a word or phrase underlined. Read the sentences carefully
ned word belongs to. Indicate your response on the Answer Sheet

Try to knock that vase over.
(a) Preposition
(b) Conjunction
(¢)  Adjective
(d) Adverb
I'd like an ice cream. Are you having one t00 ?
(a) Noun

by lPronoun
(¢) Adjective
(d) Adverb
My parents lent me the money. Otherwise, I
could not have afforded the trip.
(a) Adjective
(b) Adverb
ey~ Conjunction
(d) Participle
She wrote me an anguished letter from her
prison cell.
(a) Noun
(b) Verb

_(ey— Adjective
(@) Adverb
There is a visitor for you.

(a) Relation Pronoun

(b) Definite Article

e Indefinite Article

(d) Adverb
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g B the government wag pressed to do g
P Q mething for the poor the session commenced
(@ QRSP » S
b) RQPS
(c) PSQR
@d SQRP
hey do not ithi . .
92, they o V;;lthln my subject lightly esteemed by me if I don’t speak to them, it’s because
and not because they are = o
S
(a) SPRQ
b) QRPS
(c0 RSPQ

(@~ RPSQ

. nomagnanimous victor the fortune of war had put in his power so cruelly would treat those whom

P Q - R S

(a) PQRS

&7~ PSQR
(c) SQRP
(d) RPQS .

“. call in question whatever else one may say of him no on;dare his honeSt}é af plxpose
P Q '

(a) QSPR
(b) SPRQ
(c) QRPS
d) PQRS e of everyday life

pandemic pegan, & fixtur

b, has become ever since the COVID-19 ’ R

> Q
calibrating disease-related ik

S
3" QSPR
(b)  SRQP
()  PQRS
(d) QPRS

8 (17-B)
HSA"U‘ENG v
(¥ scanned with Oken Scanner



(¥ scanned with Oken Scanner




SPOTTING ERRORs

ction has q
; L Senten :
hether there 1c .. . Vith three underlined parts labelled as (a), (b) and (c).

ﬂ,,,’ons; Each item in this ge
W, J each sentence to find out y
A ;[m‘ Answer Sheet against th
ld be indicated as (d).

This task is bein
//w for the benefit of young people i d
eople in needed

(a) M
at the instance of the Chief of the Group. N
. No error
(c)

01

(d)

2. IfTam  the principal of the school would abolish all examinations
—4) (b)

No error

(c) (d)

103. My mother is thinking that I should stop drinking. No error

(a) N‘R ; © @

104. The students have a good time in the class today. No error

(@) by e )

105. More than thirty lakh people were inoculated against COVID-19 on March 15%. No error
(a) " b, ) (© @
a the Life Inéﬁrance Corporation Act. No error -

(c) (d)

106. LIC was found on September 1, 1956 vi
(a) (b)

h unseen. No error

(d)

107. Full many a flower are porn to blus

e (b) (c)

108. 1 shall be glad to help every one of my boye
(b)

in their studies. No error

(c) (d)

(a)

in the centre or left side of the chest. No error

(e) (d)

9. Most heart attacks ~involve discomBr

(a) {ives are restricted to  a few hundred kilometres. No error
ativ

oting initi
10. For most food park W -l @

(b)
(a)

S (19-B)
SA-U-ENG
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